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X 2= (Recursive function)

« Xl 4 (Recursion)
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/def countdown(n) : \
print(n)
ifn>1:
countdown(n-1)
countdown(5) .
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M 2=, pow

g

ef pow(n1, n2) :

if n2 == 0:
return 1
else:

return( n1 * pow(n1, n2-1) )

print(pow(3, 8)) =
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K g, f(n)=3 * n

» f(n) =3 * n, |, 32| B2 {7 &+ HTE S 4 2l
B X}

def mult3(n) :
ifn==1:

return 3 .
else: ======== RESTART:
return mult3(n-1) + 3 g
for i in range(1,10) : ?2
print(mult3(i)) 15
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(def mult3(n) :
ifn==1:
return 3
else:
for i in range(1, n):
return 3*n

for i in range(1,10) :
print(mult3(i))
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X e, pattern()

ﬂjef pattern(n) : \

ifn==0:
print(0, end="")
else:
pattern(n-1)
print(n, end="")

pa.ttern(S) T - - - - - - - - - -—_—_—_—_—_—_—_—————=—=—
print() —_—
pattern(11) 01 2 3 4h
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X+ et=+=, factorial

Gef factorial(n) :

factorial
factorial
factorial

<

print("factorial has been called with n =" + str(n))
ifn==1: # terminate condition
return 1
else :
res = n * factorial(n-1)
print("intermediate result for ", n, " * factorial(" ,n-1, "): ",res)
return res
I = int(input("input an integer : "))
print(factorial(i)) i === o |
======== RESTART: E:/1_Works/2017Work/KMooCZr2| /Exercise
input an integer @ b
factorial has been called with n =5

‘factorial has been called with n = 4

has been called with n
has been called with n
has been called with n
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intermediate result for 2 = factoriall{ 1 ): 2
intermediate result for 3 = factoriall{ 2 ): B
intermediate result for 4 = factoriall{ 3 ): 24
intermediate result for 5 =+ factoriall 4 ): 120
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fl=1
fa=1
f3 =1F1+f2
f4 =2 +f3

fn =fn-1 + fn-2
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/def fibo(n) :

fn==171o0orn-==
return 1
else :
return fibo(n-1) + fibo(n-2)

for i in range(1,15) :
print(fibo(i))
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